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Test 2 Review
(Continued from Friday)

e Inverse functions

e Logarithmic functions

e Exponential functions

e Logarithmic differentiation 7.1-0.2
e Exponential growth and decay (word problems)
e Inverse trig functions

e Hyperbolic functions

e Integration by parts

e Integration of powers and products of trig functi




Addition Problems: See the homework,
examples given in the class notes, questions
from poppers, questions from EMCEFs,
questions 1n online quizzes, review
problems and videos posted from the
lectures page, and questions given on
Friday quizzes.
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Example: Compute Isin3(x)cos3(x)dx. = g'mgﬁm COSZ&\) CoS(XIAK
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Example: Compute j tan’ (x)sec:3 (x)dx.
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Example: Compute Itan%x)se&(x)dx.
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